1. 48 +3 =16
2. 96 +2 =48
3. /5+5=15

4. 87 +4=21r3
S. 67 +3=22r1
e. 59+5=11r4

/. 7[3+3=24r1
8. 08 +4=24r2
9. 86 +3=28r2

Challenge 1:
The second calculation is correct.

The first calculation is wrong because the person forgot to exchange the
left over tens.

The third calculation is wrong because the person only exchanged one
ten when there were two tens left over.

Challenge 2:

96 + 3 = 32 is the easiest because there are no exchanges or
remainders.

62 +4 =15r 2 is the hardest because there is an exchange and a
remainder.



